s

R ices of a doctor are con-
-' de I. n.

) can create matter.

services of a housewife are
:-~ 2] plﬁuction-

galli . Of‘ “TC I
| what is Productio
. ! U
(o) Creating/Additios
(b) production of foo
(¢) Creation of servi
v4ol8
(fﬂ Manufact " :
[CAC
2. Which of the followin
as production in econo
() Helpingablind per estroying
lhf I‘Oad : .,‘ Earning Pmﬂt in best way
(h) Group dance g sservices professionally
college annual fun
(¢) Holdingachilc ' Zcor
a wall i ___is nothing but creation of
(d) Performing all ies ir
3. Which of the follow
production in E
(a) Tilling of soil. -
(b) Singing a song
(¢) Preventing a ¢
into a manho
(d) Painting a pi
4. Which of the |
is true? 5

&
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(¢) Exchange

(d) Investment
[Nov. 2020]

8. Production is defined as:
(a) Creation of matter
(b) Creation of utility in matter
(¢) Creationof infrastructural facili-
ties
(d) None of the above
[CA CPT June 2015]

9. According to , Pro-
duction is the organized activity of

transforming resources into finished
products in the form of goods and
services, and the objective of produc-
tion is to satisfy the demand of such
transformed “resources”.

(a) James Bates
(b) J.R. Parkinson

(¢) Marshall
(d) Both (a) and (b)
10. to exchange in the

market is an essential component of

production.

~ (a) Intention

) g
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Factors of Production
12. Factors of production refey -
(a) Inputs :
(b) Outputs
(¢) Both (@) & ()
(d) Either (a) or (b)
13. are the factqy,
resources which make it possipj, Irr
produce goods and services, 1

(a) Land, Labour, and Bank

(b) Capital, Owner and Manpoy,

(¢) Land,Labour and Entrepreng,,
ial ability

(d) Land, Labour, Capital and Eng,
preneurial ability

14. Which of the following factors
production is a free gift of nature ay
refers to Natural resources?

(a) Land

(b) Labour

(¢) Capital

(d) Entrepreneurial Ability

15. Which of the following is not:
characteristic of land?

(a) Its supply for the economy &
limited.
(b) It is immobile.

(¢) Itsusefulnessdependsonhuma

efforts.

(d) Itisproduced by our forefather
16. Which of the following is not?
characteristics of Land?

(@) Itis a free gift of nature

(b) Itisamobile factor of producti®’

(¢) Itis limited in quantity
i

(d) Itsproductive powerisinde
2017

tible [CA CPT Dec.

—
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7. Which among the fo]jgw:
: characteristic of land? OWing is not

(@) Itis an active factor
(b) It has variety of uses
- © Its prc.)-duction
structible
(@ Its supply is limited

[CA CPT Dec. 2016]

of the following statement
ctors of production is not trye?

and is a passive factor
is a free gift of nature
isimmqbile

Powers are inde-

[CA CPT Nov. 2018]

) two pieces of land and alike.
iffer in fertility and situation.

3.3

tively from the point of

view of a firm.
(a) Perfectly Inelastic, Inelastic
(b) Perfectly Inelastic, Relatively
Elastic
(¢) Perfectly Elastic, Inelastic
(d) Perfectly Elastic, elastic
23. Labour force wants more

(a) Facility

(b) Leisure

(¢) Benefit

(d) All of the above

rCA CPT Dec. 2005]

24. Which of the following is not a
characteristic of labour?

(a) Itis perishable

(b) It has weak bargaining power

(¢) Labourand Labourpowercannot
be separated

(d) Labour is not mobile
: [CA CPT Dec. 2016]

25. The concept of “innovative
entrepreneurship” was given by

(@) Adam smith
(b) Marshall
(¢) JK Mehta
(d) Schumpeter
[Nov. 2020]

26. The labour power or efficien-
cy of labour depends upon the

(4) Laborer’s inherent and acquired
~ qualities.
(b) Features of work environment
ic) Incentive to work
d) All of the above.

=
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27. Labour is highly perishable in the (¢ Tangible

sense that e (d) Human
(@) A labourer cannot store his 35 Which of the following
labour. passive factor of production?
(b) ThEEfEOflabourlSShoﬂ (ﬂ) Buﬂdmg

(c) ‘I‘he labourer sells his labour .
B ag&i, B i the (b) Machine
(¢) Land

: .31“’3}'5 low priced.  (d) Labour

active participation , [uly 2021]
d capital may not 33, Which one of the following ,,
-means labour is be regarded as a part of social Cﬁpltaa;:

e B (@) Roads
oo (b) Bridges -
~ {0 Machinery
(d) Both (@) & (b)

. 34. The three stages of capital forp,
tion are :

(a) Savings, Mobilization of Savingg
and investment

(b) Mobilization of Saving, Savings,
and i Investment

gf Sawng
Investment and mobiliza-

means a sus-
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lis nature's gi
o ok (¢) Schumpeter
apassive factor. W) Swikezy

i_[Ca*’L CPT June 2016} [CA CPT June 2008)

the entrepreneur are:  42. The basic minimum objective of

5 all kinds of enterprises is to survive

busmess -enterprise or to stay alive. It may be regarded

co- Ordlnaung as objective of the
enterprise.

(@) Organic
(b) Economic
(€) Social
(d) National

43, objective implies

e the profit maximizing behaviour of
Rt i the firm.

(a) Organic
(b) Economic
(¢) Social
(d) National

44, mobilizes factors
of production, combines them in the
right proportion, initiates the process
of production and bears the risks in-
volved in it.

(a) Businessman
(b) Manager

() CEO

(d) Entrepreneur

45. Which one ufthefnllowingfunction
13 1 'e‘rformed by entrepreneur?

.....

CPT June 2009]
! dertakea which
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46. According to , the
true function of an entrepreneur is to
introduce innovations.

(a) Schumpeter

(b) Peter Ducker

(¢) Paul Samuelson
(d) None of the above.

Production Function

47. Which of the following is the best
definition of “production function”?
- (@) Therelationship between market
ice and quantity supplied.

)

PART I : BUSINESS ECONOMIC 5

(¢) The increase in output gep, '!
ated by one-unit increase ip One |
oulput, !

(d) All levels of output that cap y,, l;
generated by those inputs, i.

50. What is a production function? 5

(@) Technical relationship betweg,, |
physical inputs and physicy |
output. |

(b) Relationship between fixed fa.. |

tors of production and variab], |
factors of production. -

(¢) Relationship between a factor of \|
- production and the utility create [
by it. \

(d) Relationship between quantity of

output produced and time takey,
to produce the output.

51. Production function is:

(@) Purely a technical relationship
between input & output

(b) Purely an economic relationship
between input & output

(¢) Both the technical &economical

relationship between input &
output

(d) None of the above

1 [CACPT Dec. 2013]
52. The production function:

' e?relatipnship between the
ity of inputs used and the
tng quantity of procuct,
Ao the Maximum attainable
oragiven combination

: --@C‘hnological re-
*Ween inputs and
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ShOWSIheo
Vi

erated at a given leye] :Elioutpm 57. Which one of the following is the
(a) Cost function put: assumption underlying any production

i functi
(b) Production functiop unction? A |
(¢) 15O cost (a) Relationship between inputsand

iy = outputs exists for a period of time.
‘fﬁ'ﬂ;;tuﬁoigllln rate of technica substi- (#) Thereisagiven“State-of-theact’

R C in the production technology.
Sl [CA CPT Noy, 2006] (¢) Whatever input combinations
Pl function shows relationship one included in a particular

"“l,’_.“‘ and output? function, the output resulting
from their utilization is at the
maximum level.

(d) All of the above.
58. The short run, as economists use
the phrase, is characterized by:

(a) At least one fixed factor of pro-
duction and firms neither leaving
nor entering the industry.

(b) Generally a period which is

shorter than one year.

(¢) Allfactorsofproduction are fixed

and no variable inputs.

~(d) All inputs are variable and pro-

duction is done in less than one
year.

59. To economists, the main difference
between the short run and the long
run is that:

(@) In the short run all inputs are
fixed, while in the long run all
inpqts are variable.
(b) Intheshortrun the firm variesall
- of itsinputs to find the least-cost
- combination of inputs.

' jIﬁ the short run, at least one of

~ B3.

(d) Inthelongrun, the firmis making
- aconstrained decisionabouthow
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60. In describing a given production
technology, the short run is best

described as lasting:
(@) Up to six months from now.
(6) Up to five years from now,
(¢) Aslong as all inputs are fixed,
(d) As long as at least one input
fixed.

61. In the short run,
curves show that

(@) Total product begins to decrease
when average product begins
to decrease but continues to
ncrease at a decreasing rate.

(6) When marginal product is equal
to average product, average
product is decreasing but at jts
highest,

is

the firm’s produci

A 4
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64. A fixed input is defined ag

(@) That inputwhose quantity cany,
quicklychanged in thﬁ?ham ‘ nu
in response to the desire p ™
company to change its Prﬂdué
tion.

() Thatinput whose quantitycap,
be quickly changed in the shoy,
run, in response Lo the d_esjre of
the company to change its pro.
duction.

(¢) That input whose quantities
be easily changed in response o
the desire to increase or redyc,
the level of production.

(d) That input whose demand cq,
be easily changed in response
the desire to increase or redyc,
the level of production.

65. In the long run, if a very smgj
factory were to expand its scale of
operations, it is likely that it woylg

initially experience
() An increase in pollution level,

(¢) Whenthemarginal product curve
cuts the average product curve
from below, the average product
is equal to marginal product.

(d) In stage two, total product in-

creases at a diminishing rate and (b) Diseconomies of scale.
reaches maximum at the end of ] LT
this stage. (¢) Economies of scale.

t .
62. Long period production function (@ Constant returns to scale

 is related to: :
(@) Law of variable proportions
ws of returns to scale

Cobb-Douglas Production Func-
tion
66. Paul Douglas and Cobb stud-

ied the production function of the
manufacturing indus-

(@) American
- (D) Japanese
(0 British
- (d) Asian
67 In its original form, the Cobb-
Douglas production function applies:



(@) To individual firm
(b) To selected Firms

k(@ Towhole of manufacturingin the
- UsA

/) None of the above,
I!obb -Douglas production func-

CH. 3 : THEORY OF PRODUCTION AND COST

i ﬁus Cobb«Douglas pro-
on is based on studies
!lldl.lﬂtﬂﬂﬁ in the United

3.9

I'Ill 3|h
o) by TR
(d) None of the above
[CA CPT Dec. 2015]

72. According to Cobb-Douglas pro-
duction function, will get
returns to scale?

(a) Constant
(b) Diminishing
(¢) Increasing
(d) Any of the above
[CA CPT Nov. 2018]

73. According to Cobb-Douglas pro-
duction function, labour contribution
in increasing manufacturing produc-

tion is

(@) 2/3
(b) 3/4
(c) 1/4
(d)1/2

[Jan. 2021]

Total, Average and Marginal
Product

74. What will be the total product when
two labourers are hired according to

the table given below?
No. of Total | Marginal
labourers | Product | product
0
1 350 350
2 o B 250
(a) 680
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(¢) 350 (¢) Marginal Product
(d) 230 (d) None of the above.

: [CA CPT Dec. 2010] 79- Average product is defined
| 75. Marginal product is the slope of: (4) Totalproductdivided by he oty

) S cost.
(@) Total Product (b) Totalproductdivided by Margjn,

- (b) Average Product product.
Marginal Product | (¢) Total product divided by
e S number of units of variable inpy

(d) Marginal product divided by
% [Nov. 2019] number of units of variableip PU:.
del‘ the fDﬂDwillg tﬂble: 80. Suppose the fil'St four unitﬂ Of .

Total |Marginal | Variableinput generate correspondiy
| Output | Product | total outputs of 200, 350, 450, 500
i The marginal product of the third unj

T ' of input is:
= 100 100
7 (a) 50
- (b) 100
(¢) 150

81. Use the following diagram to an.
swer the question given below it
i

Total oulput

arginal physical product of the
unit of labour is , the MP

—__labour is Negative
fourth
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t of inflexion, th
; g asmar. Number of Output d
Workers

0 0

1 23

2 40

3 50
' @) Constant marginal product of

ay 2007, 2018] i labour. i
Dbe............  (b) Diminishing marginal product of
" labour.

(¢) Increasing return to scale.
(d) Increasing marginal product of
fy7, labour.
2. 87. Marginal product, mathematically,
is the slope of the
- (@) Total product curve.

(b) Average product curve.

(¢) Marginal product curve.

(d) Implicit product curve.
~ 87A.Whichof thefollowingis Correct?
4 ¢ __(_a) MPn-*_—-TPn-TP“_l
- (5 MP, =MF, -MP,,

k I’(:@‘tm; i TPn w TPn-l
i (d) None of the above.
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89. What is the total product of pro- 93. When average product rises 5

ducing 2nd unit of output? result of an increase in the quantigy {;.a
(a) 8 variable factor, marginal producy »
(b) 10 (a) Equal to average product
(c) 18 (b) More than average product
(¢) Less than average product
(d) 24 i, (d) Becomes mziji‘é; .
. ec. 201¢
90. What is the AP of 1st three units e .  roduct aury, ig
of output? : above the average product curve whe,
), 8 the average product is:
(B i (a) Increasing

(c) 18 (b) Decreasing
(¢) Constant
[Nov. 2019]  (4) None [CA CPT Feb. 2007
AP of 1st three units 95, Identify the correct statement:

(a) Theaverageproductisatitsmay;.
mum when marginal product jg
equal to average product.

(b) The law of increasing returng
to scale relates to the effect of
changes in factor proportions,

(¢) Economies of scale arise only
because of indivisibilities of fac.
tor proportions.

(d) Internal economies of scale can

: accrue when industry expands

- beyond optimum.

~ 96. Which of the following is correct
n relation to Marginal Product?

‘What is produced units when
all factors of production are
mployed atoptimum efficiency? |
1€ extra output obtained from
oying an additional unit of

eft revenue to the entre- |
after he has incurredall -

above

[Jan. 2021] |
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1f the marginal product of labour
ow the average product of labour
st be true that: ;

verage product of labour is

d ] iwhen marginal product

1 glnal, average, and total
rves encountered by the

roduct is rising, av-
rginal product may
or falling.

3.13

(@) Marginal product of Jabour is
negative

-(b) Marginal product oflabouriszero

(¢) Average product of labouris fall-

mg

(d) Average product of labour is
negative

[CA CPT Aug. 2007]

Law of Diminishing Returns
101. In the production of wheat, all of
the following are variable factors that
are used by the farmer except:

(d) Theseed and fertilizer used when
the crop is planted.

(b) The field that has been cleared
of trees and in which the crop is
planted.

(¢) Thetractorused by the farmerin
planting and cultivating not only
wheat but also corn and barley.

(d) The number of hours that the
farmer spends in cultivating the
wheat fields.

102. Law of variable proportion is
‘valid when:

(@) Only one input is fixed and all

other inputs are kept variable

(b) All factors are kept constant
(¢) Allinputs are varied in the same
proportion
(d) None of these
[CA CPT Nov. 2007]

103. Diminishing marginal returns
implies:

() Decreasing average variable costs

(b) Decreasing marginal costs
Increasing marginal costs
‘Decreasing average fixed costs
[Nov. 2019]
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iminishing marginal returns (¢) Both the short run and the |,
st four units of a variable

Ig
run, -

(d) Neithertheshortrunnorthe lon,,
run. i
[Nov. 20 9)

109. The law of variable Proportig,,
is drawn under all of the assumptiey,

mentioned below except the asgy, b.
tion that:
(a) The technology is changing,
(b) There must besomeinputs wh,
quantity is kept fixed.

(¢) We consider only physicalinpus
and not economically profitabj.
ity in monetary terms.

(d) The technology is given ang
stable.

: 110. Law of increasing returns is ap.
(fan-2021] plicable because of .

(a) Indivisibility of factors.
(b) Specialization.

(o) Ecéﬁomies_,of scale.
(d) Both (a) & (b) above.

~ [Nov.2019]
‘the Law of variable
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producer will produce

hich marginal product (¢) Total product increases.

(d) Marginal product is positive.

118. Diminishing marginal returns
implies

(a) Decreasingaverage variablecosts
(b) Decreasing marginal costs
(¢) Increasing marginal costs
(d) Decreasing fixed costs.
[CA CPT Dec. 2015, May 2019]

119. The “law of diminishing returns”
applies to
(@) The short run, but not the long
run

erage fixed costs  (4) The long run, but not the short

H
o
3
=
5
S
S

: "'1‘1 of diminishing (¢) Both the short run and the long

=]
=]
8

(d) Neitherthe shortrunnorthelong

:

[CA CPT May 2018]
120. Diminishing returns occur:

(@) When units of a variable input
: are added to a fixed input and
Bgreturns is total product falls.

(b) When units of a variable input
are added to a fixed input and
marginal product falls.

(¢) When the size of the plant is in-
creased in the long run.

(d) When the quantity of the fixed
input is increased and returns to
- the variable input falls.

'ﬁétl.’_l‘f__nf. to Scale
121. The concept of Returns to Scale
e atée'f:l,_ with:

1553

Very short period




Law of returns to scale is.

4 PJan. 2021]
s to scale can be

[CA CPT June 2012, 2013]

T e
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(@) All inputs are changed

(5 Allinputs are changed in a]y,
established proportion

(6) All inputs are not changed

(d) Oneinputischanged while Quan,
tity of all other inputs remain
same

ady

[CA CPT Feb. 2q¢3
127. Diminishing returns occur -

(@) When units of a variable inpy,
are added to a fixed input apg
total product falls -

(6) When units of a variable inpy :
are added to a fixed input ang |
marginal product falls '

(6) When the size of the plant i |
mcreased in the long run. |

(d) When the quantity of the fixed |

input is increased and returnsio |

the variable input falls

[Nov. 2019]
128. Which of the following is the rea-

son of the working of law of increasing
returns?

B e of fixed factors
s101lity of the factors
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an 5] 4 l'etum ]
s 5 10 scale 134.Increase in allinput leading to less

Dimin g returns 1o scqle than proportional increase in output is

¢) Constant returns to scale called

: :.uw Ing returns initially, fol- (a) Increasing returns to scale
owing by decreasing returns to  (P) Decreasing returns to scale
(¢) Constant returns to scale

. [CA CPT Feb, 2008] (d) Both increasing and decreasing
ar homogeneous production returns to scale

based on: [CA CPT Feb. 2008]

Ing returns to scale 135. When output decreases by 20%
sing returns to scale due to increase in inputs by 20%, this
nt returns to scale stage is called the law of

of the above (a) Increasing returns to scale.

' t le.
Dec. 2014, May 2018] (b) Decreasing returns to scale
- (¢) Constant returns to scale.
sing returns to scale are

wifallinputsareincreased  (4) None of the above.

[CA CPT June 2010]
will also decreaseby 10%. 136. Constant Returns to Scale are
1t will increase by 10%. also called as Production
et Function.
increase by less than :
A (a) Linear
lincrease by morethan (b) Curvilinear

(¢) Linear Homogenous

ouglas Production (d) Curvilinear Homogenous

L*C?], there will be 137 with a view to increase his pro-
ot scale if : duction, Hariharan a manufacturer
' of shoes, increases all the factors of
production in his unit by 100%, But
at the end of the year, he finds that
instead of an increase of 100%, his
production has increased by only

80%. Which law of returns to scale is
operating in this case?

(a) Increasing returns to scale
(b) Decreasing returns to scale
(¢) Constant returns to scale
- (d) None of the above
[CA CPT June 2014]
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Setioniof ...........

138.Wh
enoutputincreaseinasmaller 143. Large prod
d to higher prody,

proportion wi . 3
retu:-hanmcrem inallinputs goods would lea
ns to scale set in. tion in future.

(ﬂ) IHCreasing (a) Consumer G
() Capital Goods

oods

(b) Decreasing
(¢) Constant (©) Agricultural Goods
(d Circular (d) Public Goods
[Nov. 2019
hows
Pro . Al 144. An ISO quant $
'dI.ICtIOI'I Optimization @ All the Jlternative combing,
139. ISO quants are equal to: sions of two nputs that can he
. : produced by using 2 given se
(@) Product (e St of output fully and in the bes

possible way-

s (b) Allthe alternative combinations
of two products among which a
producer is indifferent because
they yield the same profit.

(c) All the alternative combinations
of two inputs that yield the same
total product.

~ (d) Both (b) and (¢)-

~ 145.1IS0 quants are negatively sloped

T the origin due fo

ks Marginal Rate of Tech-

(b) Total uj:]n;'!lggs |

ncave, Increasing
ave, Decreasing

ich of the following statement |
 relation to an ISO Quant &

that will give the

ut
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sty

o nt_l g Cost Concepts and 150, Implicit cost can be defined as
ponomic Costs

z —— (@) Money payments made to the
uppose, the total cost of produyc. non-owners of the firm for the
commodity XisZ 1,25 000, Oy self-owned factors employed in
implicit cost is % 35,000 and the business and therefore not
fits is T 25,000. What will entered into books of account.

i icit cost of commodity X? (b) Money not paid out to the own-

00 ers of the firm for the self owned
factors employed in a business
and therefore not entered into
books of account.

: (¢) Money payments which the self
T Aug. 2007, Dec. 2011 owned and employed resources
June 2013i could have earned in their next

R best alternative employment and
e t::; ::sliﬂ;““g Is an therefore entered into books of

account.
a proprietor could (d) Mone i
‘ ! y payments which the self
eti:?}* worlfmg as an owned and employed resources

earn in their best use and there-
fore entered into books of ac-
count. ;

151. Total Cost = Explicit cost +
Impliciticost +- .................

(@) Super Normal Profit
(b) Normal Profit
(¢) Super Normal Losses
(d) Average Fixed Cost
' ' [Nov. 2019]

ed 152. Implicit cost may be defined as
sion. the:

(@) Costs which do not change over
- aperiod of time

Costs which the firm incurs but

gent which the self




3.20

earned in their best alternative

employment.

[CA CPT Nov. 2007]

153. Which of the following is includ-
ing in cost of production and is termed

as accounting cost?

(@) Wages to workers employed
(b) Prices for the raw materials
¢) Fuel and Power Used
€

gy e
Mﬂmsmtemts

“:Jl'&?lude the
osts of the resoure-

kL

20
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cost.
(@) Explicit
(b) Implicit
(c) Fixed
(d) Variable
[CA CPT June 2012)

157. Cost in terms of pain, discumfm
disability involved in supplying (.
various factors of production by their
owners are termed as

(a) Social cost
(b) Explicit cost
(¢) Real cost
(d) Implicit cost
[CA CPT June 2012
158. Economic costs of production

ys differ from accounting costs of pro-

iction because

(@) Economic costs include expen-
ditures for hired resources while
~accounting costs do not.

ounting costs include oppor-
hich are deducted
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g | 160. Economic Costs ¢y,
| Acodkntis Erioes hence inthe books
@ g Costs of account. S
B [ iCon (a) Financial, are not
(b) Financial, are

(d EXPIIC' it Cost
L (c) Non-Financial, are not
i P g &‘h’ﬁ!ﬂoﬂ‘hg will be (d) Non- Financial, are
e Do it Cost? 165. Opportunity cost is:
mth": '::::_?Cﬂpﬂal (@) Direct cost
Bifoun busines, | () Total cost
(¢) Accounting cost
(d) Cost of forgone opportunity
[CA CPT Nov. 2006]

166. The cost of one thing in terms of
alternative given up is known as:
(@) Opportunity Cost
(b) Real Cost
(¢) Production Cost
(d) Physical Cost
[CA CPT June 2017, May 2018]

167.1f the market price of good is more
than the opportunity cost of produc-
ing it, then:

(a) The market pnce of the product
~ will increase in the long run

) 'Producers mllmcrease supplyin

21
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(b) Resources have limited uses
(¢) Resources have no use
(d) None of the above.
[CA CPT June 2013]
169. Opportunity Cost is:
(a) Marginal cost
(b) Variable cost
(¢) Total fixed cost
(d) None of these
[CA CPT May 2018]
170. Opportunity Cost is
- (a) Rﬁcqrdedm th_ebpoks of account
b) Sa i

,,S,a ] tggmauve

22

Direct and Indirect LOSIS
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(a) Other, Chosen, Should be chog,

(b) Missed, Chosen, should be cl’“m;
(¢) Missed, Chosen, rejected
(d) None of these

irect Costs

-

174. Direct Cost i8 also known ag.

(@) Indirect Cost

(b) Traceable Cost

(©) Opportunity Cost

(d) Accounting Cost.

[CA CPT June 2010, June 2[]13]

17/t costsare the coststhy
are readily identified and are tracea),
to a particular product, operations g
plant .

(a) Direct Cost

(b) Traceable Cost

(¢) Indirect Cost

(d) Both (a) & ()
176. may vary according

to the changes accruing to the product,
process or machine.

(a) Direct Cost
(b) Implicit-Cost
¥ (¢) Indirect Cost
(d) Non Traceable Cost.
177. Indirect Costs are not easily and

 definitely identifiable in relation to 2

ants, products, process or depart-
é}_lt. These are changed
different jobs or products in stan-
-accounting practice.




CH. 3 : THEORY OF PRODUCTION AND COST

178. Identify the indirect Cost.

(a) Common cost incurred for gen-
eral operations

(b) Wages paid to worker
(¢) Material Purchased
(d) Commission Paid

_Igcremental Costand Sunk Costs

& 179. Theoretically, incremental costs
~ are related to the concept of

(@) Marginal Cost

(¢) Judgmental Cost

) Semi Variable Cost.

80. Which of the following is part of

*t:.-nt of worn-out ma-

=} ™
SR

3.23

Historical Costs and Replace-
ment Costs
183. Which of the following in incurred
first?

(a) Historical Cost

(b) Replacement Cost

(c) Realized Value

(d) None of these
184. Cost refers to the cost

incurred in the past on the acquisition
of a productive asset.

(a) Current Cost

(b) Historical Cost

(c) Future Cost

(d) Desired cost.
185. A Company is willing to change
its existing Machinery (5 years old)
by a new machinery at a cost of
Z 10,00,000. The cost of T 10,00,000
may be regarded as:

(a) Historical Cost

(b) Replacement Cost
(¢) New Cost

(d) Market Cost

186. Other things remaining the same,
anincreasein price will make
cost higher than

(a) Historical, Replacement
(b) Replacement, Historical
(¢) Historical, reliable

(d) Fixed, Historical.

7. Usually in the case of continuous
ease in price of an asset, which one
ollowing shall be the highest?

lacement Cost

cost.
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